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ﬂrmr:tmns Choose the word or phrase (1), (2), (3), or (4) that best completes |
ach sentence. Ten ﬂrk the correct choice on your answer sheet.

1- The new economic policies threaten to --—------- the health care system,
1) denoter . 2) trigger 3) assimilate 4) undermine
2- The map clearly ------e--- the boundary between Turkey and Irag.
1) intrudes 2) conducts 3) delineates 4} withdraws
3- A rise in interest rate and inflation would severely -----—-- economic growth.
1) retard 2) depart 3) predispose 4) mistreat
4- The expression “full moon™ means the 14" day of the moon --=---—-- from its first
appearance.
1) reckoned 2) propelled 3) proceeded 4) stimulated
5- In many countries, doctors have traditionally enjoyed high social -----===--,
1) arena 2) status 3) circumstance 4) disposition
6- Her strict -----—-- -- to the diet caused her to lose a lot of weight in one month.
1} incentive 2} adherence 3) presumption 4) accumulation
7- Constant argument cavsed angry -------- == that brought an end to the peace talks.
1} discord 2) deviation 3) diffusion 4) discrimination
8- Careful ---------- of the company’s accounts revealed a series of errors.
1} procedure 2} conformity 3) scrutiny 4) contradiction
9- Unfortunately this diet is ---------- in vitamin A.
1) incompatible 2) exposed 3) antecedent 4) deficient
10- They showed a very ---------- lack of gratitude to those who had helped them.
1) marginal 2} indecent 3} differential 4) impotent

Water which has fallen as rain is disposed of in three ways. Some of it evaporates, with
the help of the sun and wind, and returns to the atmosphere. Some gathers to form a stream.
(11) -==----=sinks into the soil, but much of it appears again in springs and finds its way to the
surface streams, (12) —------- 15 this water from springs that keeps rivers flowing long after the
rain has stopped. Melting snow and glaciers are other sources of river water.

The streams formed in all these ways join to form rivers (13) ---------- they are the
tributaries. The area of land from which the water of a river and its tributaries is drawn
(14) -----===== the basin of the river. Some rivers have very large basins while others of (15) ----
drain muach smaller basing. Thus although the Nile and the Amazon are about the same length,
the basin of the Amazon 1s more than twice as big as that of the Nile.

11- 1) Water 2) Another 3) The rest 4) The other
12-1) e 2) There 3) What 4) If this

13- 1) that 2) which 3) in that 4) of which
14- 1) calling 2) 1o call 3v1s called 4) being called
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15- 1) lengthy equal 2) 'equa] length 3) lengthy equally 4) equally lengthy

| Directions: Read the following three passages and answer the questions by

§ choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
| your answer sheet.

Passage 1

Early in the 19th century, music was greatly influenced by the literary movement
known as romanticism. French composer Hector Berlioz and Hungarian composer Franz
Liszt were leaders in the development of program music, as it them became known. They
created works based on or inspired by literary, pictorial, and other subjects, as, for
example, Berlioz’s Symphonie fantastigue (Fantastic Symphony, 1830), in which a
recurring melodic idea represents the woman who havunis a musician’s dreams. Berlioz
composed some of his finest works on sabjects taken from William Shakespeare and
Virgil. The cult of the romantic hero, prevalent in these times, inspired highly charged
symphonic works full of atmosphere, such as Berlioz’s symphony Harold in Italy (1834),
based on an epic poem by British poet George Gordon, Lord Byron. Franz Liszt based
his Faust Symphony (1857) and the Dante Symphony (1857) on great works of literature.
In these symphonies and in works such as Les préludes (1854), for which he devised the
term symphonic poem, Liszt employed the leitmotiv, using specific melodic phrases to
identify characters, actions, or symbols, an innovation developed by Liszt’s son-in-law,
German composer Richard Wagner, in his music dramas.

16. None of the following is true about French composer Hector Berlioz and
Hungarian composer Franz Liszt EXCEPT that —----------- -

1) literature had a bearing on the music that they produced

2) they composed music for some people involved in program music

3) the music they produced remained unknown until some time later

4) their works can be regarded as contributing more to literature than to music

17. The word “haunt™ in line 6 can best be replaced by ------—----- :

1} Caunses

2) occupies

3) formulates

4) dramatizes

18. The theme of which of the following is briefly explained in the passage?

1) Les preludes

2) Harold in lialy

3) Faust Symphony

4y Symphonie fantastigue

19. The passage sceks Lo -------=euue,

1) digparage musicians” attempt to base their work on literary masterpieces

2) prove that literature was and continues to be a source of inspiration for musicians

3) present an overview of the works of some 19th century musicians and its literary subjects

4 justify some composers’ recourse to literature as a source to enhance the goality of their works
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20. None of the following was a musical figure EXCEPT ---—-n-m---
1) Virgil 2)Lord Byron 3)Franz Liszt 4)George Gordon
Passage 2

Unlike zithers, which may be plucked, bowed, struck, or wind-sounded (the aeolian
harp), true harps are almost exclusively plucked. Their many strings fasten directly into
the resonator; no bridge is necessary. The frame of European harps consists of a sound
box, a neck (called the harmonic curve), and a forepillar, roughly forming a triangle.
Ancestral, non-Western harps such as the Myanmar saung lack the reinforcing
forepillar; their angled or arched necks, therefore, cannot withstand extreme string
tension. The African pluriarc has a separate neck for each string.

A modern concert harp has a pedal mechanism that alters the pitch of each siring by
one or two semitones, thereby producing a full chromatic compass although having only
seven strings per octave. Simpler pedal and manual devices offered chromatic notes in
18th-century harps, but earlier chromatic harps (notably the Welsh felyn) had two or
three rows of strings, each chromatic note having jts own string. Although most
European harps are strung with gut or synthetic cords, the massive Irish harp
traditionally is wire strung. Once favored to accompany bards, the Irish harp became a
patriotic symbol when its use was outlawed by English authorities.

On lyres, the strings are anchored to a crossbar supported by two arms that extend
from a box- or bowl-shaped resonator; they are coupled to the resonator by a bridge.
Lyres are rare today outside Ethiopia; however, the Greek ancestor of the Ethiopian lyre
~was a popular instrument. The kithara was a large, wood-bodied concert lyre of ancient
Greece; derivatives of its name were given to unrelated instruments such as the cittern
and guitar.

21. What does the paragraph prior to this passage most probably disccuss?
17 Zithers

2) The aeolian harp

3) How harps came into being

4} Harps in non-European countnes

22. What is the subject of the passage?

1) The different types of harps

2) Two types of musical instruments

3) The function of harps in different countries

4) How sound guality depends on the instrument used

23. According to the passage, ancestral, non-Western harps --«------- :

1) are not resistant 1o éxtreme string tension

2) come with necks that are angled or arched

3) have necks also known as the harmonic curve

4) do not enjoy the presence of the reinforcing forepillar
24, The word *“its” in line 12 refers to --------- o

1) note 2)harp Ivelyn 4)siring

25. It can be inferred from the passage that ------seeeee-- .

1} all European harps are strung with gut or synthetic cords

2) the Insh harp can be used to move the nationalistic feelings in Irish people
3) true harps are framed such that they can be plucked, bowed, struck, or wind-sounded
4) ‘amodem concert harp looks more like the African plurigre than its European counterparts
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26. It can be understood from the passage that ------------- 3

1) the structure of lyres resembles that of ancient harps

2) the kithara is the name that Greeks later gave to lyres

3) lyres are the prototype of modern instruments such as the cittern and guitar
4) Ethiopia 1s the place where you can more easily find people playing the lyre

Passage 3

Iranian classical music is modal and monophonic. The mest serious interpretations
generally consist of a melodic soloist (or sometimes, a duet) and often a percussion
accompanist. Orchestral combinations are becoming popular, but I will largely ignore
those.

There are twelve basic modes: seven primary modes (dastgah-s) and five secondary
modes (avaz-s). Each avaz is derived from a spegific dastgah, but it is also able to stand
by itself. Performance is based on the idea of a "suite" in a single mode, in which the
artist will choose items to make a finished composition. Actual performances generally
proceed largely as improvisations, incorporating and culminating in the chosen melodic
patterns. Part of the artistry is to make smooth transitions between elements of the suite.

The standard melodic paiterns of Iranian classical music are codified in something
called the Radif, written down from oral sources at the beginning of this century. The
Radif consists of a large number of melodies or sequences (gushe-s) grouped by mode.
Some dastgah-s have more gushe-s than others. To form a suite, the artists will select
appropriate gushe-s, along with classical poetry, improvised elements or original
compositions. Some gushe-s are always present in a classical rendition, whereas others
are less common; the order within the suite is also pre-determined, to some extent. Some
gushe-s and compositions have specific rhythms, while others do not. When there is a
percussion accompanist, he will take part in some sections but not in others. Finally, there
are different versions of the Radif that different artists will use, especially for different
instruments.

27. The word “those” in line 4 refers to --------- !

1} combinations

2) interpretations

3) modal and monophonic music types

4) soloist along with a percussion accompanist

28. According to paragraph 2, --------------- 5

1) secondary modes are five in number

2) primary modes outnumber secondary ones

3) suites are smooth transitions performers make between basic modes
4} each avaz can stand on its own as well as depend on a specific dastgah
29, The word “consists of” in line 13 is closest in meaning to ----------- :

1) surrounds 2)inundates 3comprises 4)generates
30. What is the tone of the passage? _
1) Sarcastic 2)Subjective 3 Dispassionate 4y Complimentary
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